Rl &F e REL ke £ 52 %

4-4

1.

(1) 690 (2) 360
(3) 6640  (4) 3016
9.

(1) 2862 (2) 44772
(3) 105 (4) 301

4-4-1

k& Eh] R4

(1) 100 (2) 460
(3) 1200 (4) 2700
FBiEt] £ATF A
70+150=220 ;
600—220=380

£ 600— (70+150) =380
% 1380 cce

KEEH2 R

(1) 4300 L (2) 440
(3) 250 (4) 122

KB A0 EAFA
700+ 380—420=660

B0 AKERH 660 T cim F o

kB EH3ER
(15 (2) 12
(3) 5 (4) 6
(5) 162000 (6) 576
(7) 4500 (8) 4800
(9) 180 (1011200

B EF3 EFFAL
270+10+3=9 ;

E 9

DIAEHARL © R
L% 1 150—36=114
5 :114—28=86
515 1 864 60=146
- BENeeT ko
150—36—28+60=146
£ 1146 ~ o
DIALIR2 ¢ R
£ 155+25=280

2 E 1 150—80="10
- BE N eeT ko
150—(55+25)=170

F 70 A e

DAL RS ¢ R
£ E 1 10x6=60

£ 3 160:15=4
B B
10x6+15=4

E AN o
DIALEIRA : R
£ ¥ ¢ 65x56=30

P& 1120+30=4
B B
120+(6x5)=4

B DAREITRA o

Ly $-w

—_ N

Q1 =
DO



1. 8 2. 4
T -
1. 317 2. 18
3. 5l 4. 842
5. 144 6. 120
7. 15
T
1. 72—36+24=60
F 160 % o
2. 500—120—180=200
F 1200 3¢ -
3. 1456+4+7=52
F D2 o
4. 6x16+32=3
F i3
5. 600+4+6=25
¥ 125 8% o

2. 306—40—28=238
g 1238 ¢ -

3. 1500—375+425
g 11550 F 2 .

4. 2880+40+12=6
g 64

5. 6x12+8=9
¢ 9%

6. 12x30x18=06480
& 1 6480 4

I-45x&w %-w

.2 202 3 1 4

5.

. =2 > 3 =

L (M [v] €109 )
@ [ ]« )

2. (1) 50 (2) 100
(3) 388 (4) 30
(%) 8 6 1

D N

1. 16+28+14=58
¥ 1 H84E -

4-4 BIFEPR Y

1. 76 12
2. 44 4. 3
5. 16 6. 12

(1) 3 ()3 (+)3 (+)3 =2
(2) 3 (x)3 (+)3 (x)3 =18
(3) 4 (+)4(+)4(—)4 =8
(4) 4 (04 (04 ()4 =16
T
1. 270+6x11=495
F 1495 § o
2. 54—26+36=064
Z64~4pd o
3. 20000—8980—1200=9820
F 19820 ~ -
4. 50x80+20=200
¥ 1200 & o
5. (1)400x6+20=120
(2)200—120=80
*é' (D)E AT LS 120 £ o
(2)% 2 p2 80 ~ o




